EARAZROREIERT — 2 N—XBISY —F 201757828 (H) 1EI&EE6H

Ul o R2m B [EE] B

‘ (%] 8 ‘ (EsmEl - |2 (E) 12000 &

[A~&£] 1 7% :7,000,000  ~ 23 :2,800,000 33 :1,800,000” 43 :1,100,000F ~ 5 j& :700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . & R :10. - . . BEE (EX)
1l8l10 ZZXHTLHY 4 2 5.0 1(1_0)9 1-1 35.1| 79.6 1 (41_2) 7172#%5%
L:O—FAHFO7 B:RXHAO—XTY— FRIEHS
s =y 2 | AWEH 1:11.1 2-2 35.2| 775 | 3 440 |NE—B (EH)
2 7| FFATYy % %53.0 (1 1/4) (o) |AEEE
L—5—2v7 B:ovA4=LJT7LX TEEHS
. 4 2 | BSAEAS 1:11.3 3-3 35.1| 75.6 | 6 M4 | INEfREL (FEH)
3|7|8| b—E>YR/R 54.0 (1 1/2) -) Bl
ZANXZATNG B:Y—-rhuday RE 1%
S # 2 | AUETS 1:11.3 3-3 35.1| 75.6 | 4 474 | NBIRZ (EH)
411 | MF-ZR 5.0 (75%) ) | @ E-tr-yry
R:ig—FLEYIL B:F-X%3 HE R
2 = # o2 | ERE 1:11.5 6-6 35.1| 73.6 | 7 422 | FBR (FH)
sy 4| vEF/ XTI 54.0 (1 1/ o |HEER
Qg —MLERYIL B:wN—IN—F4% J—YTr—LA
o = BN 112, — . . REE (EH)
6 s |VISET i 2 e 1 (142) 2 6-8 35.8| 66.4 | 10 (438) e
R:29)—>e—0O— B:50%21-—> FATLANITT
N : B 2 | BEER 1:12.2 3-3 36.1]66.5| 9 452 | BEELE (BH)
7|5|5|7H="=LvF %53.0 (7€) ) F% BT — L
R:hNZ— B:74F%2R U]
S # 2 | C.bx—Jb 1:12.6 6-6 36.2| 62.6 | 2 440 | BEEB— (ER)
8|8[11| YIAAX 54.0 2 1/2) O |emeimmRE
X THANAN B:TFURA=T v — Slrae]
2 5 s 2 | RHBEBE 1:12.6 10-10 [35.8| 62.4 | 8 456 | HAKERAY (i)
9 3 Joo—74 $53.0 (7 4) <) U‘-I\D@ﬂ\
R:Va—-HhTF—/ BTFIRE1H— HR& KMEXT-T
L - . LT 112, - . . REE= (E8)
10 6| TWRTHF VT i 2 o 1(71%:)7 6-8 36.3| 61.7 | 5 (438) .
L2 T hF—J7—K—K B:XX/e0q0> ST ¥
. t o | BESRN — - — - — 470 | Lt (FEXR)
w9 7V RIT : 5.0 (B51) ) |Emma
RNMVTSY Bon/d57 REH S
@ 21 L
£ 46.8-35.1
NA>ZA L | 12.6-11.5-11.7-12.0-11.4-11.7
® 1—F—@EBIERL
13—7F-
Pal=5F=
== 10,7(5,1,8) (2,6,4,11)-3 9
ASl=5F= (x10,7) (5,1,8) (4,11) (2,6)3 9
[ N5
B 10 220M 714K 7-10 300M e E 6-8 300 JEE 7-8-10 2,610
# B 10 120M 8-10 470 B E 7-10 760M 3EE 10-7-8 7,720
7 190M 7-8 940M B H 10-7 1,270
8 250M

ABICOVWTRDTEEERROODE. TR LIV,




